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Addilion and Sublraclion

The nahonal curriculum cor mo,Hlemahcs aims Eo ensure Hw,} au Pupilsz

1. become j:luenl 'ml the fundamenlals of mathemalics, lncluding H’Lrough varied and frecluent Pro,chce with lncreasinglﬂ complex Problems over fime, so that Pupils
deve[op conceplual understo,ndlng and the abilltﬂ bo recall and O’PPlU knowledge ro,PlcuH and o,ccurakelﬂ.

2. reason malhemahcollg bﬂ Fo”owing a line of enclulrﬂ, conjec}uring relahonshlps and genero,lisahons, and developing an argument, jushficahon or proog
using mathemalical language

3. can solve Problems bﬂ aPPleg their mathemalics fo a varletﬂ of routine and non-rouline Problems with lncreasing sophishcahon, mcluding breaklng down

Problems into a series oJ: simpler steps o,nd Persevering in seeklng soluhons.

The aim is that children use mental methods when aPProPriake, but for calculabions thal H‘leH cannot do in their heads H‘leH use an efflclen} wriltten method o,ccurakelﬂ and
wiHm confidence. BH H’»e end OJ,' Year 6, children should be able ko choose H’»e most appropriake aPProach ko solve a Problem: maldng a choice between using jongs (an

extended wriHen meHmocl), an eﬂ:icienl wriHen meHmod ora menlal meH‘»od.

The Policg outlines concre}e, Pickorio,[ and abstract Prachces. When children are secure and confidenl uslng a concrele or Pickorial method H’Leﬂ should be moved on
accordinglg. An example OJ: a resource has been 9iven bu} oner representahons, concrete or Pic}orial, shou[d be used when appropriate. This wiu assisl deeper

understanding.

K Lebbon
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KEY STAGE 1

Children first learn to connect addition and subtraction with counting, but they soon develop two very important skills: an understanding of parts and wholes, and an
understanding of unitising 10s, to develop efficient and effective calculation strategies based on known number bonds and an increasing awareness of place value.
Addition and subtraction are taught in a way that is interlinked to highlight the link between the two operations.

A key idea is that children will select methods and approaches based on their number sense. For example, in Year 1, when faced with 15 - 3 and 15 - 13, they will adapt
their ways of approaching the calculation appropriately. The teaching should always emphasise the importance of mathematical thinking to ensure accuracy and
flexibility of approach, and the importance of using known number facts to harness their recall of bonds within 20 to support both addition and subtraction methods.
In Year 2, children will use their knowledge of number bonds and place value to calculate mentally.

Key language: whole, part, ones, ten, tens, number bond, add, addition, plus, altogether, subtract, subtraction, find the difference, take away, minus, less, more, is equal
to, addend, total, minuend, subtrahend, difference
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Concrete

Pictorial

Abstract

Adding one more
to10

Children add one more person or object to a group
to find one more (this should be practical).

0

A tens frame should be used here to reinforce
the layout ready for year 1.

one more

Combining two
parts to make a
whole

Sort people and objects into parts and understand
the relationship with the whole.

Children draw to represent the parts and
understand the relationship with the whole.

®e

@ o®

Adding by
countingonto5

Children use knowledge of counting to 20 to find a
total by counting on using people or objects.

8 on
the bus

Children use counters to support and represent
their counting on strategy.

DOOOD




Finding one less
to10

Children take away one person or object from a
group to find one less (this should be practical).

A tens frame should be used here to reinforce
the layout ready for year 1.

Taking away

Children arrange objects and remove to find how
many are left.

A tens frame should be used here to reinforce
the layout ready for year 1.

Subtraction within
10

Use counters on a tens frame to support their
understanding or objects / resources.




Concrete

Pictorial

Abstract

Adding one, two
or three more

Children add one more person or object to a group
to find one more (this should be practical).

one more

._
o~
ow
[ ES
[
Oo
O~
Qo

Combining two
parts to make a
whole

Sort people and objects into parts and understand
the relationship with the whole.

Children draw to represent the parts and
understand the relationship with the whole.

(6]+[4)=(10]

Knowing and
finding number

Break apart a group and put back together to find
and form number bonds.

Use five and ten frames to represent key
number bonds.

Make sure to include examples where one
of the parts is zero.

bonds to 20 ololoo e a) o G
oeee 4
00000 b)
- |coeee CICICIS
Adding by Children use knowledge of counting to 20 to find a Children use counters to support and represent
counting on total by counting on using people or objects. their counting on strategy.




Pupils should be
encouraged torely
on number bonds
knowledge rather
than counting on
as their main
strategy.

—_

DED

8 on
the bus

OOOOD

+1 +1 +1 +1 +1

A
8+5=13

Bridging the 10
using number
bonds

Children use a bead string to complete a 10 and
understand how this relates to the addition.

Children use counters to complete a ten frame
and understand how they can add using
knowledge of number bonds to 10.

Q0000 . 910100
eeee

0000 KEEE
eeeeo

Use a part- whole model and a number
line to support the calculation.

%

L 1 ' ]
I L3 1

q 10 11 12 13

Counting back and

taking away

Children arrange objects and remove to find how

many are left.

Children draw and cross out or use counters to

represent objects from a problem.

Children count back to take away and use
a number line or number track to support
the method.




Y Y X DA

7-3=64

TWhot 4o | get it § take B sway from FT Asgwer: 4°

&

fo i[5 [s]elste\ o\ o\ e\ i\

Finding a missing
part, given a
whole and a part

how one part can be found by subtraction.

Y B
PPy

LA A
—

o=

As next steps, the children should
understand the relationship between
addition and subtraction.

~ (=) 0O-0-0
0+0-0
0+0-0
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Finding the
difference

111817 14
128833

8 is 2 more than 6.

6 is 2 less than 8.

The difference between 8
and 6 is 2.

e000000
00000
7-5=2

- “How meny more is ¥ thoa BT What is the difference?”

{YYY)

0123456784910

10-4=6
The difference between 10 and 6 is 4.

Subtraction within

5§-3=2
2° ——— clelelee) [FelEEE 5575
iy ®)(®)®)|®)®
15-3=12
5-3=2
15-3=12
Subtracting 10s 18-12 18 - 12.
and 1s 919 1014 o
%‘ﬂﬁ%@ \”mmm Use ten frames to represent the efficient 19 - i =:5
mw&mm wmﬁ}m method of subtracting 12. S0.19 - 14=5

First subtract the 10, then take away 2.

First subtract the 10, then subtract 2.




Subtraction
bridging 10 using
number bonds

12-7

Arrange objects into a 10 and some 1s, then
decide on how to split the 7 into parts.

7l 7 / / / / /
VAVAVAVAVA RN Y

0

XIXIXIXIX

7 is 2 and 5, so | take away the 2 and
then the 5.

000 e 66

000s®

For 13 -5, | take away 3 to make 10, then
take away 2 to make 8.

13-5

ul -
m-




Concrete

Abstract

Add3single | 7+4+3=14
digits Put 7 and 3 together to make 10. Add on 4.
4+ 7 +6)= [10/+7
10
Combine the two numbers that make 10 and
then add on the remainder.
Adding a 1-
digit ﬁ +6
numbertoa ' " ‘lﬂ /\.
2-digit I I —— T T T T T
number not 0123456 7 8(9101112131415
bridging 10 41 is 4 tens and 1 one. 16

41 add 6 ones is 4 tens and 7 ones.

29

| A A N L L L L
20 21 222324 25 26 27 28(29)30 31 32 33 34 35

10




o

Identifying Use known bonds and unitising to add
and using 10s.
number

bonds to 10 26+4=
6+4=10
20+10=30
| knowthat4 +3=7.
So, | know that 4 tens add 3 tens is 7
tens.
16 +4=20
Adding a 1-
digit an 0[0][@[0] [e)[e)
numbertoa 88 88 :! + 88
2-digit + W Qg og O
number '| @@ e® +5 +2
bridging 10 88 88 Eg OO 43 44 45 46 47 48 49 50 51 52 53
There are 4 tens and 5 ones. o eoe|e0 * 7=54+2
I need to add 7. | will use 5 to complete a | [@|®) Ql|eE 45 +5+2=52
10, then add 2 more. Q) @/8/(0/0

11



Adding a Other multiples of 10 should be added to the | Children can draw the tens and one to support their
multipleof | addend. understanding.
10 to a 2- — o
digit HEE o HEEA ODEHD HEEEE 3r+20=7
number miny. 10 more L H B nl=l=S miul=l=l=
L HH - EH B O E B 10 more ni=l=l= 30 +20 =50
= M wliulsls —H H — M 50 +7 =57
HEE SEEE | HEE 2l 37+ 2057
32 42 - S
32 42
Lziaielsie 18l A 100 square can support this
n|2(3|w|15[16|17 (18|19 |20 .
22|22 25 s 2|28 20 0|  UNderstanding.
31 [3233[34]35(36| 3738|3940
41 | 42 | 43 | 44| 45| 46|47 |48 |49 |50
51 | 52|53|54|55|56|57 585960
61 62|63 |64|65|6667|68|69|70
71|72|73|74 75|76
7] 88 8] ]
Addingtwo | Add the 10s and 1s separately. Add the 10s and the 1s separately.
2-digit
numbers by :‘ : 40 + 5 4+ 20 + 3 = 68 a5 53
titioni vl g +
partitioning vk CICLS + § i EE +
40 5 20 3
5+3=8
There are 8 ones in total. HREH 88
i 8 26 + 37
30 +20 =50 [afss
There are 5 tens in total. / \
60 + 8 = 68 30 7

35+23=58

12




Subtractin

o

g multiples [ 100 ]
of10 |0 o F Y HHH l %] _
7 tens subtract 5tens is 2 tens.
number
bonds to 10. 10-3=7 _
8 subtract 6 is 2. So, 10 tens subtract 3 tens is 7 tens.
So, 8 tens subtract 6 tens is 2 tens.
Subtractin | Children to physically take away the 1s.
g asingle- 56_ 2= 54 ¥ Y ¥
digit = 1+
nugmber 30 31 32 33 34 35 36 37 38 39 40
S —
g E
O (] -3 =
POV 9-3-6
® g g g g — | . 39-3=36
[
|

13



Identifying

and using
number FT T T T T LT T L1
bonds to 10 012345067 8(@®10
-3
1I0 'Il'l 'IIZ 1‘3 1‘4 IlS QI@ 'I]7 1I8 2‘0
-3
L I N O I | m 1
20 21 22 23 24 25 6) 27 28 (29 30
-3
ol b sl e o m 1
30 31 32 33 34 35 (36) 37 38 (9 40
Subtractin
gasingle- | [0]@|[@[®)[@[® 0[0] [0[0] [0[0] (@] =
digit oi|l/e|lole|ie'e] HRIERIEEEE o
number 8888 9000 00 o .
bridging ee/eeee gg 88 gg 18 19 20 21 22 23 24 25 26
10
35-6 _ =7?
35-6 oo

| took away 5 counters, then 1 more.

First, | will subtract 5, then 1.




o

Subtractin
ga -3 = 22 64-41="7
2-digit ‘taking away’ 23 ‘taking away’20 and 3 E E E
number o - O N 64-1=63
5 5 5 R — 63-40=23
s 64 -41=23
o - = 74 - 34 = 40
O O O
5 : . / \
N — 4 30
45-20-3=22
—3 -20
T T T
22 25 45
45-3-20=22

20

- -3
T T
22 42 45

15




LOWER KEY STAGE 2

In Year 3 especially, the column methods are built up gradually. Children will develop their understanding of how each stage of the calculation, including any exchanges,
relates to place value. The example calculations chosen to introduce the stages of each method may often be more suited to a mental method. However, the examples
and the progression of the steps have been chosen to help children develop their fluency in the process, alongside a deep understanding of the concepts and the
numbers involved, so that they can apply these skills accurately and efficiently to later calculations. The class should be encouraged to compare mental and written
methods for specific calculations, and children should be encouraged at every stage to make choices about which methods to apply.

In Year 4, the steps are shown without such fine detail, although children should continue to build their understanding with a secure basis in place value. In subtraction,
children will need to develop their understanding of exchange as they may need to exchange across one or two columns.

By the end of Year 4, children should have developed fluency in column methods alongside a deep understanding, which will allow them to progress confidently in upper
Key Stage 2.

Key language: partition, place value, tens, hundreds, thousands, column method, whole, part, equal groups, sharing, grouping, bar model, addend, total, minuend,
subtrahend, difference

16



Adding 100s

Concrete

’
5

-.+-
E = — - — — 3 E = — 3

3+2=5
3 hundreds + 2 hundreds = 5 hundreds
300 + 200 = 500

Pictorial

3+4=7
3 hundreds + 4 hundreds = 7 hundreds
300 + 400 = 700

Abstract

3+2=5
300 + 200 =500

3-digit number
+ 1s, no
exchange or
bridging

sass . ases
214+4="7

Now there are 4 + 4 ones in total.
4+4=8

214 +4 =218

faooan p
r

5+4=9 /,‘
2 4 9
245 + 4
5+4=9
245 + 4 =249

" Use number
bonds to add
. the Is. -

Use number bonds to add the 1s and
understand that this is more efficient and
less prone to error.

245 +4="7

| will add the 1s.
5+4=9

So, 245 + 4 = 249

17



3-digit number
+ 1s with
exchange

Understand that when the 1s sum to 10 or
more, this requires an exchange of 10 ones
for 1 ten.

Children should explore this using unitised
objects or physical apparatus.

Exchange 10 ones for 1 ten where needed.

H 1 O

135+7=7
135+5+2=142

198 +5=7

198 + 2+ 3 =203

135+7=142
3-digit number
+ 10s, no 351+30=" 753 + 40
exchange

| know that5+4=9

So, 50 + 40 =90

18



234 + 50

There are 3 tens and 5 tens altogether.
3+5=8

In total there are 8 tens.

234 +50 =284

1l 0]
EEEIE '

TR TR

5 tens + 3 tens = 8 tens
351 + 30 =381

753 + 40 =793

3-digit number
+ 10s, with
exchange

Understand the exchange of 10 tens for 1
hundred.

E5 (3 100 T 0 W T T T O 0 I 9 0 3
FEEREEAEET AR ERREEEE
IEEEREEENEERE

) 30 5 T K ) 0

NN
e (9 0 T 6 6

EEEEEEESEE EEEEEEEEE 1 Ol -
[ I3 2 I 1 ) ) 5 O HE ]

Add by exchanging 10 tens for 1 hundred.

184+20="7

184 + 20 = 204

184 +20="7

| can countin 10s ... 194 ... 204
184 + 20 = 204

Use number bonds within 20 to support
efficient mental calculations.

385 + 50

There are 8 tens and 5 tens.
That is 13 tens.
385+50=300+130+5
385 + 50 = 435

19




3-digit number
+ 2-digit
number or a 3-
digit number

Use place value equipment to model
addition and understand where exchange is
required.

Use place value counters to represent
154 + 72.

Use this to decide if any exchange is
required.

There are 5 tens and 7 tens. That is 12 tens
so | will exchange.

][]

275+16="7

I

275 +16 =291 _E

Note: In this example, a
mental method may be
more efficient. The numbers E
for the example calculation
have been chosen to allow
children to visualise the
concept and see how the
method relates to place
value.

-

AZ7: Column Addition
78 248
46 + 687 +

126 935

E I St s ey e

3-digit number
+ 3-digit
number,
exchange
required

Use place value equipment to enact the
exchange required.

T [©)

I

There are 13 ones.
| will exchange 10 ones for 1 ten.

Model the stages of column addition using
place value equipment on a place value grid.

Use column addition, ensuring
understanding of place value at every stage
of the calculation.

20




_N‘
~N o] O

+
N =—

+*
N
~N o0

~
w

+
- N |-
~N o0

w
»
w

126 + 217 = 343

Add fractions
with the same
denominator
within one
whole.

FI: Fractions to 1

Make a Whole!

5/7+1/7=617
Children should be able to sketch / shade in

the correct parts themselves on a given
diagram.

IS (i |

5/7+1/7=6/7

21




Subtracting
100s

o
e
e

5-2=3
500 - 200 = 300

Ll 11111 1g
. UENERP" 4
R, YEEF a8
HER. N «EE0
EEEN JEEER
EEP" 4. NEEN

P . ANN. YER

B’ ANEEN. YN

400 - 200 = 200

‘YNEEENER"
W

r ANNEEER. 'W l 2
ANNEENEER. )

ANNEENENE.

400 = 200 = 200

| know that 7 — 4 = 3. Therefore, | know that
700 - 400 = 300.

3-digit number
=1s,no
exchange

Use number bonds to subtract the 1s.

4-3=1
214 -3 =211

Use number bonds to subtract the 1s.

H i}

(]

aaaaa
aaaoa

(o]

9-4=5
319 -4 =315

Understand the link with counting back
using a number line.

Use known number bonds to calculate
mentally.

476 -4="7

@
09 (1) (&)

6-4=2
476 -4 =472

3-digit number
= 1s,
exchange or

Understand why an exchange is necessary
by exploring why 1 ten must be exchanged.

Use place value equipment.

Represent the required exchange on a place

value grid.

151 -6="7

Calculate mentally by using known bonds.

151-6="7

22




bridging 151-1-5=145
required H T 0
0]
866006
WRNRN
=
3-digit number
- 10s, no o 372-50="7
exchange 5
70-50=20
So, 372 =50 = 322
8tens — 1lten=7tens
381 -10=371
381-10="7
8 tens with 1 removed is 7 tens.
381-10=371
3-digit number | Use equipment to understand the exchange Use flexible
- 10s, of 1 hundred for 10 tens. @ partitioning to support
exchange or 0 the calculation.
bridging
required

@ @ &) ==

23




I need to exchange 1 hundred for 10 tens, to
help subtract 2 tens.

EENENEEEE)
W)
w W)

210 - 20 =190

235=100+130+5
235-60=100+70 +5
=175

3-digit number
- up to 3-digit
number

Use place value equipment to explore the
effect of splitting a whole into two parts, and
understand the link with taking away.

HHH
HHH
HHH
HHH
HHH
HHH
s is i 0686

(1
H
H
H
H
H
H
H

Represent the calculation on a place value
grid.

H T 0o

LI
> .
m i

$7: Column Subtraction
78
46 -
32

H T U

598
362 -
236

SR U R A

3-digit number
- up to 3-digit
number,
exchange
required

Use equipment to enact the exchange of 1
hundred for 10 tens, and 1 ten for 10 ones.

175-38="7?
| need to subtract 8 ones, so | will exchange
a ten for 10 ones.

H T | o

24




[sl=f=]=]=]
OONNEN
HNNNE

606060
OORNEN
HEEER

HTO
| 6% '5
3 8
3 7

(3]

|75 - 38 = 137

Subtract
fractions with
the same
denominator
within one
whole.

Fraction walls and circles should be used
practically.

7 _ & _3
10 10 ~ 10

Children to colour in representations to
embed understanding.

6/7-1/7=5/7

6/7-1/7=517

25



Choosing
mental
methods
where
appropriate

Use unitising and known facts to support
mental calculations.

Make 1,405 from place value equipment.
Add 2,000.

Now add the 1,000s.
1 thousand + 2 thousands = 3 thousands

1,405 + 2,000 = 3,405

Use unitising and known facts to support
mental calculations.

Th H

T o
e |©O© :....

| can add the 100s mentally.
200 + 300 = 500

So, 4,256 + 300 = 4,556

Use unitising and known facts to support
mental calculations.

4,256 + 300 = ?
2+3=5 200 + 300 = 500

4,256 + 300 = 4,556

26



Column Th H T(0)
addition with Use equipment.to show 1,905 + 775. Th H | T [ o I 5 s5la
exchange @ CI0000] @@@@@ e & 3 al3
o Lo .9 eeee @@  |000 i
° [essge e0000 E!—'—'—’j =
®ee®
|::... 88@@@"...0 Th | [ ™ HITYo
@ QCOOd@@@@@ I 5154
Why have only three columns been used for | @@e® |©® 000 o ) L
the second row? Why is the Thousands box O all
empty? ©___ -
th [ H il 0
Which columns will total 10 or more? ©) I.QQQ.IG)@@@@ Th(H)T O
IFs s %
eeee lOQ OO 5 « &03 03 9
® e L
[ ™ ] H T 0
l. |0.0.. OO P
ThYH T O
loooo Joo OO {5 5 4
© 442 3 7
® 5)7 a |
— I
Add fractions | Fraction walls and circles should be used Children to colour in representations to
with the same | practically. embed understanding.
denominator. i L i = 1 — 1

27



Choosing
mental
methods
where
appropriate

u
H
H
o
H
M
= a

What number will be left if we take away
300?

Th

()

H T
::... :....

7,646 — 40 = 7,606

3,501 - 2,000

3thousands — 2 thousands =1
thousand

3,501 -2,000 = 1,501

Column Understand why exchange of a 1,000 for Th H T (0)
subtraction 100s, a 100 for 10s, or a 10 for 1s may be Th H U 0 I 2 5o
with exchange | necessary. @ ®e® - 4 2o
{ ) ©
Th H Ui [0}
® ®® - T 2
= 4&|2]0
Th R 73 0 - 3530,
:::aq@ (Th HYT O
N Y¥'2]5 @
4 4|2 ¢
Th | H | U o) sl 3 o
0000 COORN —
]ggonnl A H T O
/2 5 o
1 14 20
[ Js 3 o
Column
subtraction 2,502 -243="7 2,502 -243="7 2,502 -243="7

28




with exchange

across more Th | H T 0 Th(A T) O
ee 000 OOOOCO®
than one 44444 2 128 0] 2
column
2 4|3
Th H T o |
2 ee 00080 (VOO0 0000
QOO0 0000
| need to exchange a ome 1s, but © OO —
there are not any 10s here. Th H(T O
2 43[9'g'2
: g 2|4 3
Th H T O
2 48 9'9'2
2 4 3
2 2 5 9
Subtract Fraction walls and circles should be used Children to colour in representations to
fractions with | practically. embed understanding.
the same

denominator.

| &

29




UPPER KEY STAGE 2

Children build on their column methods to add and subtract numbers with up to seven digits, and they adapt the methods to calculate efficiently and effectively with
decimals, ensuring understanding of place value at every stage.

Children compare and contrast methods, and they select mental methods or jottings where appropriate and where these are more likely to be efficient or accurate when

compared with formal column methods.
Bar models are used to represent the calculations required to solve problems and may indicate where efficient methods can be chosen.

Key language: decimal, column methods, exchange, partition, mental method, ten thousand, hundred thousand, million, factor, multiple, prime number, square number,

cube number, addend, total, minuend, subtrahend, difference

30




Column

Add a row of counters onto the place value

Represent additions, using place value

addition with | grid to show 15,735 + 4,012. equipment on a place value grid alongside TThTh H T ©
whole written methods. | 9 | 7 5
numbers TTh [ th [ H [ T [ o |
o 00000 OOO0O 000 |C000O TTh Th [ H T o + | 8 4 | 7
e oo |o COOOC|000
@ ©eee6|® 00000000 3 7 5 9 2
008 lele} [ [
| need to exchange 10 tens for a 100.
TThTh H T O
2 0 1 5 3
+1 9 1 7 5
3 9 3 2 8
|
Adding tenths | Link measure with addition of decimals.
06 m 02 m 6 2 8
Two lengths of fencing are 0-6 m and : — 10 10 10

0-2m.
How long are they when added together?

[
[O-Imlo-lmlO-Iml0-Im|0-Im|0-|m]0-|m|0‘lm]

6 tenths + 2 tenths = 8 tenths

L L —— | 0-6+0-2=0-8
0-6 m 02m 0 01 02 03 04 05 06 07 08 049 |
0:6+0-2=0-8
6 tenths + 2 tenths = 8 tenths
Adding Use place value equipment to represent
decimals additions. Represent exchange where necessary. 3 ~iih Hib
using column 0~ 2
addition Show 0-23 + 0-45 using place value Wl ode B
counters. L _
(Measurement Include exchange where required,
- Money) alongside an understanding of place value.

31




0 Hth O - Tth Hth O - Tth Hth
.. 0-9 2 0-9 2
E + 03 3 ¥ 0+3 3
1 -2 5 Y . 3 &
. ».0 0.0 _ 'I#
“— ..
® Include additions where the numbers of

Include examples where the numbers of
decimal places are different.

[ 0 . Tth Hth O - Tth Hth
00000 - 5:0 0

+ 1 -2 5
© - [©© 00080 .

decimal places are different.

34+065="7

O - Tth Hth
34 0
0

+0-6 5

Add fractions
with the same
denominator
and multiples
of the same
number.

Column
subtraction
with whole
numbers

Fraction walls and circles should be used
practically.

2,250 - 1,070

EEEEEEEEEE

EEEEEEREEE

EssEsssEEm
EmsmssEEsm

EEEEmEEEEE

15,735 - 2,582 = 13,153

1.5_2_65_7
s ¥Tg"8*8"8

TThTh H T O
6270 a7
-1 8 5 3 4
4 3 5 6 3

62,097 - 18,534 = 43,563

32



TTh [ 7th [ H [ T [ o | TThTh H T O
@ 00000 00000000 000 15735
o0 - 25 82
3
Now subtract the 10s. Exchange | hundred for 10 tens.
TTh [ Th [ H | T | o | TThThH T O
® 00000j00000 I 579 5
og = 258 2
5 3
Subtract the 100s, 1,000s and 10,000s.
Th | ™ | H | T [ o | IThthH T O
o  |ccess ooesg ' ° 7S
1 3 1 & 3
Subtracting 5.74-2.25="7
decimals O - Tth Hth Thth
""""""" [ o . Tth Hth O - Tth Hth
(Measurement _ ______________ 00000 . [000c0e00® | 57 ¢ 3 -9 2 |
— Money) ©® 144 &3 3 . 5 0
Exchange | tenth for 10 hundredths. o
im-m=r
| [e] . Tth Hth O - Tth Hth
- 00000 OOOCOC| 00008 5 7 '+ .
1-049=" . |o@ 00088 - 2 > s
SR
Now subtract the 5 hundredths.
[ [ o[ Tth Hth O - Tth Hth
00000 OO0 00008 5 7 '4
. |©D 00ees| -2 -2 s
B8P g
Now subtract the 2 tenths, then the 2 ones.
[ [ . Tth Hth O - Tth Hth
00098 |COCOY 00008 5 7 '4
* @D 00ees| -2 2 s
SHB® | 3 4 o
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Subtract
fractions with
the same
denominator
and multiples
of the same
number.

Fraction walls and circles should be used
practically.
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Comparing

and selecting

Represent 7-digit numbers on a place value
grid, and use this to support thinking and

Discuss similarities and differences between
methods, and choose efficient methods

Use column addition where mental methods
are not efficient. Recognise common errors

efficient mental methods. based on the specific calculation. with column addition.
methods Compare written and mental methods
| . |. e T |. - alongside place value representations. 32,145+ 4,302 =7
T " o - TThTh H T O TThTh H T O
} } : } : 3 2 | 4 5 3 2 | 4 5
40,265 43,265 D D D £ 4 3 0 2 + 4 3 0 2
3 6 4 4 7 7 5 1 6 5
TTh Th H T [ 0o TThTh H T O
0000 ) 8®®®®|ooooo | 4 g i tzi : _
oo |oeeseloc e Which method has been completed
accurately?
Use bar mo_del and number "f“? . What mistake has been made?
representations to model addition in
problem-solving and measure corexts. Column methods are also used for decimal
B additions where mental methods are not
/\?ﬂr{tjs efficient.
i : : H T O -TthHth
12:05 13:05  13:13 I 4 0-0 9
+ 4 9 -8 9
I 8 9 -9 8
|
Selecting Represent 7-digit numbers on a place value | Use a bar model to support thinking in Use place value and unitising to support
mental grid, and use this to support thinking and addition problems. mental calculations with larger numbers.
methods for mental methods.
larger 257,000 + 99,000 = ? 195,000 + 6,000 = ?
numbers M | HTh TTh | Th H T | [¢]

195+5+1=201
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where
appropriate

2,411,301 + 500,000 = ?

This would be 5 more counters in the HTh
place.

So, the total is 2,911,301.

2,411,301 + 500,000 = 2,911,301

-

[ £257,000 £100,000

S

| added 100 thousands then subtracted
1 thousand.

257 thousands + 100 thousands = 357
thousands

257,000 + 100,000 = 357,000
357,000 - 1,000 = 356,000

So, 257,000 + 99,000 = 356,000

195 thousands + 6 thousands = 201
thousands

So, 195,000 + 6,000 = 201,000

Add fractions
with different
denominators
and mixed
numbers
using the
concept of
equivalent
fractions.

Comparing
and selecting
efficient
methods

Fraction walls and circles should be used
practically.

Use counters on a place value grid to
represent subtractions of larger numbers.

Compare subtraction methods alongside
place value representations.

Compare and select methods.
Use column subtraction when mental
methods are not efficient.
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Th | H T o
@® VBB OOOON 00000
® Q8 VRO®

-4 -30 -500
2.I'45 2.I'-’o°l 2.ll7q 2.6I7q
Th | H I 0
@e ORVVY OOOON 0000®
SN VRV
Th H T O
2 6 749
- 53 4
2 | 4 5

Use two different methods for one calculation
as a checking strategy.

Th H T O +6 - 400

WV\

-1 5 5 8 Y .
T T T
3 9 4 1,552 1,558 1,952

T O -Tth Hth
0 9-6 0
0 6
0 3

-4 0
« 2 0

— [N W|TI

Subtracting
mentally with

Use a bar model to show how unitising can
support mental calculations.

Subtract efficiently from powers of 10.

10,000 - 500 =?

larger
numbers 950,000 - 150,000

That is 950 thousands - 150 thousands

( 950 )

So, the difference is 800 thousands.

950,000 - 150,000 = 800,000
Subtract Fraction walls and circles should be used
fractions with | practically. + - 3 I - 9 4 - 5
different = ? = - 7, Y T,
denominators 4' 3 12 12 12
and mixed
numbers.
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